
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.063, page 255 
 

Last update: 22-10-07 

Remarks: See §4.8, pages 198 till 203 
 
Answers:  
 
a.  27 kNN = −
  0,81 kNmyM = −

  2,43 kNmzM = +

 
b.  217,5 N/mmtopleftσ = −

  22,5 N/mmtoprightσ = −

  22,5 N/mmbottomleftσ = −

  212,5 N/mmbottomrightσ = +

 
d. The equation for the neutral axis: 3 (30 mm) 0y z− + =  

 
 
 
Explanation:  
 

3 210,8 10  mmA = × ; ; 

 

6 43, 24 10  mmyyI = ×
6 429,16 10  mmzzI = ×

 
a.  ( 27 kN)( 0,030 m) 0,81 kNmy yM Ne= = − + =

  ( 27 kN)( 0,090 m) 2,43 kNmz zM Ne= = − − = +
 

b. ( , ) y z

yy zz

M y M zNy z
A I I

σ = + +  

 After working this out: 
 

 

2 3 3 3( , ) (2,5 N/mm ) (0,25 N/mm ) (83,33 10  N/mm )y z y zσ −= − − × + × ×

 
d. The equation of the neutral axis comes from ( , ) 0y zσ =  
 


